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1. Given: ~10x+2 (3Ix+ §) =-2x
Step 1:—10x + Bx+10=-2x
Step 2: ~Ax +10 = -Zx
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2. Jane has $7.50 to spend in the candy store. She
likes lollipops and gumbalis. Each lollipop costs
$2.75, and each gumball costs $0.50.

If Jane decides to buy 1 lollipop, then what is the
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| 4. On Thursday, Sycamore Pavilion sold 108 student |y - Crudérd Uz gdulYy — 14 = g
tickets and 177 adulf tickets to a concert and had
total sales of $6192. The sum of the student ticket wohy ¥ 1}}\5 Z HIGT @5
price and the adult ticket price was $42, f .
On Saturday, Sycamore Pavilion expects tosell 132 | 0% % v L
2)| student tickets and 201 adult tickets to a concert : —_ Y
: =14
,| for total sales of $7200. Tickets cost the same price W Ss ‘\——F-}-\\)j: 13 \ﬁ £
—i for this concert ds they dlid for the concert on o
»J Thursday. *V.;} ”EQ?‘U\»”A “D \}ﬁ:\%
<J| Use the following table to enter the price of a student | ~——"- sl
- ticket and the price of an adult ticket for o O&J Eﬁm
Saturday's concerl.
5. A store sells 2 packages of light bulbs and alamp | - Ul s i:a} - x&m o
for a total cost of $5¢. Bonnie wants to spend \ i ; .
$120 to buy 4 packages of light bulhs and 3 lamps to ,7(‘*};«; 5 \t;j ol %‘Q\} P9 X 1oz ‘f} U
use in her home. o1 by = O ' P TR
After seeing the lamps at the store, Bonrie decides thE AR SRAVIES i - 1 __,,.:é:f_
to Increase the number of packages of light Ao - 100 oy -
bulbs and the number of lamps that she buys so that |~ P Rt ) A
she can use them in her work office as weli as R S Q %{}_ My < e 3
in her home. She ends up spending $220 buying 8 \i‘B .
packages of light bulbs and a certain number of - Ve Y
R lamps. . f::‘ f . N} gL
.| Assume that in a system of two linear equations, TG0 o 1 i -k 0 1aG
-t replacing one equation with the sum of that N— “*:H—' T "y
P equation and a muitipie of the other equation 2, ¢ Z O 1.0 J)
:ﬁ produces a system with the same solutions. Using _
this

assumption, how many lamps would Bonnie buy if
the cost per package of light bulbs and cost per

lamp stays the same?
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6. Manuel has a bowi of gquarters and dimes. There

o
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are 45 colns totaling $8.85, To find the number of 1:. 5 E 55 | ’5 Q Q\j O e € “’S
each coin, Manuel used a system of iinear equations 80 ‘r\1 ]
and graphed them in the coordinate piane. Basedon | _ ®pry Ay . . . N
the graph how many quarters are in the bowl? Sa T FAG0¥ ax WY ;C?‘i:f‘
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7. Cheisea can ¢choose from 2 plans for s{reaming o .
videos to her television. Plan A costs $19.95 initially s ! % N \ d( {y g
and has a charge of $1.00 per video. Plan 2 has no 4 !
initial charge and has a charge of $3.50 per video. i ¥
The equation for each plan Is graphed in the g : | Blang T T £
‘| coardinate plane. Based on the graph, what le the 7® AT ]

minimum number of videos Chelsea should stream @ 1y /,,C .
so that the costof Plan A is less than Plan 5?7 Hup e
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8. Josh needs to solve the system of equations
below. He decides to use the elimination method to
cancel out the x terinms in order to first solve for y.

{4x + 8y = 7

A. Yes, Josh correctly soived for y,
B. No, Josh should have multiplied 2x by 2 instead of by 2.

No, Josh should have multinlied the entire second
ggquation by 2.

0 _ - .
— | 12% =3y = 9 josh uses the following steps: gul:g’oiogr _s:-ould have mulfiplied i’es nb‘rewsespond
| Step1:4x+5y=7 | s AR T TN
| —2(2) -3y =9 Hx - Sy~ - 4% Hﬂ\j ,\%

| Step 2: dx+ By =7 {0 - LY TRy T
)| Ax-3y=9 (e
oy Step 3: 2y =16
- Step 4 y=8

Did Josh use the correct steps io solve for y7? T A

3. if Jess wants to graph the solution to the system SRS . e

of equations below, which of the foliowing graphs NN KA j

would represent the solution? A 8._ Nk - %‘j": o ?" .
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11. Which inequality does this graph represent?
Dmﬂd Y- WYTEY (o
L D Fing o pownt
+H Oy 40 m‘*msecﬁmc
= oy wnd, A MARS
‘ .‘g aov
':;...{’}1w= A
qex giop? VT

R
Ty f"m

1%F

aian T

a
=
T O

[Es T i 1S
TV

Write the eguation in slope intercept and standard form.
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Select the solutions to the system of Inequalities from
@é foliowing points. Select fwo that apply.
(1.-2)

SR

C. (0, -4)

B) .-

13. A system of linear inequalities is shown below.

. Which of the foliowing ordered pairs is a solution to the

{

¥ =-ZXx +3

yz-2x-3 graph of the system of inequalities? Select
1 " two that apply.
y < oxne
= A4, Cle
B. (-3, -4
(0, -3)
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14. Solve the system of equations: LX
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15, The school district is planning on buying new - ' Oy ) o N - A
desks for its classrooms. Each secondary classroom \ﬂ — AT Y LOXY LA XJ“_;\} 11?1;
is to have 5 more desks than an elementary T IPRTES R RPN BTV E 2 platat
classroom. For 20 elementary classrooms and 25 LOXT LY H } £ y‘"% AR
secondary classrooms, a total of 1115 desks are D T T e B o ey - T
needed. The system of equations below represents Hor ¥ - a\? 1‘,(: Q;"Iffl H* LA
this situation. w ri{;ﬁ};: Jm,_j_;,ﬁ i“,:,;m_:g\ K}
y=x+5 e A - 13 g
20x + 25y = 1115 How o ﬂl} S AU Y-
How many desks are to be In each secondary ik -ﬁ‘{“g
classroom? NG
15. Identify the solution fo the A (0,0
system of equations below. 6x +3y =9 | B (909

. no solufion

@ infinitely many solutions
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17. Leslie determined that the sysiem of equations Solve the system to answer the question.
below has infinitsly many solutions. Is-she correct? ! % 13 E - g% 3 - H [ S
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